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Question Number : 1 Question Id : 973597835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The “stored program concept™ was introduced by

Options:
1 % Bill Gates

5 « John Von Neumann
5 % Alan Turing

4 % Donald Knuth

Question Number : 1 Question Id : 973597835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 973597836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Total number of unique codes that can be generated using § bits is

Options:

1 ® 1
1

| )
- |

o W

b
th 0O

3 % 25
4 & 256

Question Number : 2 Question Id : 973597836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % 127
> % 128
3 % 255
4 « 256

Question Number : 3 Question Id : 973597837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is a non-volatile and random access memory?
Options:
1 % Static RAM

- % Dynamic RAM

5 » Magnetic Tape
4 « Hard Disk

Question Number : 3 Question Id : 973597837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 973597838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the fastest memory from the following options.

Options:
1 « Static RAM

> % Dynamic RAM
2 # ROM
4 % Hard Disk

Question Number : 4 Question Id : 973597838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 973597839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following Input / Output devices converts sound into electrical energy?

Options:



, w Speaker

-  Microphone

= % Scanner
4 ® OCR

Question Number : 5 Question Id : 973597839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 973597840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to Input / Output devices, MICR stands for:

Options:
, w Micro Invisible Character Recognition

- % Macro Invisible Character Recognition
-  Magnetic Ink Character Recognition

4 B Memory Image Character Recognizer

Question Number : 6 Question Id : 973597840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 973597841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Considering the size of each addressable block of a memory as 1 byte, minimum number of bits required to address 16
MME memory 15

Options:



1 % 8
> #% 16
3 o 24
4 ® 32

Question Number : 7 Question Id : 973597841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. % 8

> % 16
= o 24
4 % 32

Question Number : 8 Question Id : 973597842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider the following statements.
I) DVD is also called Digital Video Disc
II) DWVD is also called Digital Versatile Disk
III) Blu-ray is a digital optical disk capable of storing high-definition video

Which of the following options is correct?

Options:
, % D True, IT) True, IIT) False

- D True. II) True, III) True
5 % 1) False, II) True, III) True
4 = 1) False, IT) True, III) False

Question Number : 8 Question Id : 973597842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 973597843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following categories of computer languaze uses abbreviated English words {also known as mnemonics)
for programming?

Options:

; % Machine language

- u High-level language
5 % Visual language

4  Assembly language

Question Number : 9 Question Id : 973597843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 973597844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
OpenOffice is an example of Open-Source:

Options:

, % System software

- « Application software
3 ® Utility software

4 % Firmware

Question Number : 10 Question Id : 973597844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 973597845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is FALSE?

Options:
, « Compiler executes high-level language codes.

> w Assembler translates assembly language codes into machine codes.
- » High-level language codes are machine independent.

4 » Assembly language codes are machine dependent.

Question Number : 11 Question Id : 973597845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 973597846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Which of the following statements is FALSE?
Options:

, % Linux is a multi-user operating system.

> % Linuxis a multi-tasking operating system.

- % LINuxis a multiprogramming operating system.

4  LINUX is a multiprocessor operating system.

Question Number : 12 Question Id : 973597846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 973597847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following statements is FALSE?

Options:
, % Amemory disc is divided into concentric circles called Tracks.

> # Tracks of a disk are divided into Sectors.

=  The density of outermost Track is higher than the density of inner Tracks.

4 % The storing capacity of all Tracks is same

Question Number : 13 Question Id : 973597847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 973597848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Considering four memory devices M1, M2, M3 and M4 of size 2!! GB, 1 TB, 222 MB and 233 KB respectively.

is the smallest memory. whereas is the largest memory device.

Options:
| % M4, M2

» @ M2, M4
5w M2, Ml
4 % M3, M4

Question Number : 14 Question Id : 973597848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 = M4, M2
5 « M2, M4
=z & M2, M1
4 % M3, M4

Question Number : 15 Question Id : 973597849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The default appearance of Windows Taskbar is:
Options:

1 + Bottom of the screen

> w Top ofthe screen

= % Left side of the screen

4 = Right side of the screen

Question Number : 15 Question Id : 973597849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 973597850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid operation for application windows?

Options:
1 % Maximize

> % Resize
= % Restore
4  Coloring

Question Number : 16 Question Id : 973597850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

=of@a # ¥ 9 o1 v T2 & T v 3 39ee J38 22



Options:

1_wm
o x TCETES
3,%’6ﬁ1-_ro

Question Number : 17 Question Id : 973597851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to Windows operating system. OLE stands for:
Options:

; w Object Linking and Enabling

- % Object Leaking and Embedding

o  Object Linking and Embedding

4 % Object Linking and Enhancing

Question Number : 17 Question Id : 973597851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 973597852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The display resolution of a computer monitor is usually represented as:

Options:
, w Height x Width

o o Width > Height
- » Left diagonal » Right diagonal

4 % Right diagonal « Left diagonal

Question Number : 18 Question Id : 973597852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 973597853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following programs is executed to launch Windows Command Processor?

Options:
1 « Cmd.exe

- » MSConfig.exe
5 » Registry.exe

4 # Commands.exe

Question Number : 19 Question Id : 973597853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 « Cmd.exe

- » MSConfig.exe
- » Registry.exe

4 % Commands.exe

Question Number : 20 Question Id : 973597854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Which of the following shorteut keys opens Shut Down Windows dialog when it is pressed from Desktop?

Options:
1 % Cul+F4
> « Alt+F4

z # Alt+ Ctrl +F4
4 % Cirl + Shift + F4

Question Number : 20 Question Id : 973597854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. % Cirl + F4
> « Alt + F4



z. % Alt + Ctrl + F4
4 % Ctrl + Shift + F4

Question Number : 21 Question Id : 973597855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT an antivirus software?

Options:

; w Quick Heal
> % Avira

5 o 1-ZIp

4 % AVG

Question Number : 21 Question Id : 973597855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 973597856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The computer beeps at start-up with no screen display. is generally caused by:

Options:

1 #® A Virus

> % A Worm

- % A Trojan Horse

4 A Hardware problem

Question Number : 22 Question Id : 973597856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 973597857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following shut-down options closes the open files and application programs?
Options:
, « Logoff

> % Lock
5 = Sleep

4 % Switch user

Question Number : 23 Question Id : 973597857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 973597858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is TRUE for bundled software?

Options:
. % It cannot be installed on a new computer.

- % It can be installed only on Windows PCs.

- % It can be installed only on Linux PCs.

4  Itis pre-installed on a new computer.

Question Number : 24 Question Id : 973597858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 973597859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following provides a standard foundation for installing and uninstalling software on Windows PCs?

Options:
1 # Disk Cleaner

> « Windows Installer
=z % Windows Defender

4 w Microsoft Security Essentials

Question Number : 25 Question Id : 973597859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 973597860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to Time Zone settings in Windows, the full-form of UTC is:

Options:
1 +« Coordinated Universal Time or Universal Time Coordinated

> % Unique Time Company
5 % Universal Time Company
4, % Unique Time Coordinated

Question Number : 26 Question Id : 973597860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 973597861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a valid Windows directory listing (view) option?
Options:

1 % Details

®

List

®

2
5 % Tiles

4 « Cluster

Question Number : 27 Question Id : 973597861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 973597862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The small pictures on the Desktop that acts as shortcuts to various programs are called:

Options:

, % Bitmaps

= « Icons

= % Menu Items
4 % Tools

Question Number : 28 Question Id : 973597862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 973597863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The default extension of the files created through Windows Notepad tool is:
Options:

; » -pdf

> # .doc

3 v Xt

4 % .odt

Question Number : 29 Question Id : 973597863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 30 Question Id : 973597864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
shows all the drives on your computer and provides access to all the system files and folders.

Options:
1 % Downloads

5 % My Documents

5 My Computer

4 % Desktop

Question Number : 30 Question Id : 973597864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 973597865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following:
LIST-1 LIST-2

A. A function of operating system I. DelTree

B. The shortest way of opening an application  II. File management
C. A command to delete a folder and its contents [II. RMDIR

D. A command to delete an empty folder I'V. Shortcut
Options:

1w A-IL B-IN, €C~1, D-I

, %« A-IIL B-IV. C-L D-TI
2% A-IL B-L C_IV, D—1IH
o8 A-IL B-OL €=I D-IV

Question Number : 31 Question Id : 973597865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 32 Question Id : 973597866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

LIST-1 LIST-2
A. Organizes files and folders I. Windows Explorer
B. Wild card character representing any I *

single character
C. Wild card character representing zero or  IIL. Cut and Paste

more characters
D. Moving files from one place to other place IV.?

Options:



, « A-IL B-I, C-IV, D-I
, w A-IIL B-IV, C-1II D-I

;2 « A-L B-IL C-IV, D-III
,v A-L B-IV, C-IL D-II

Question Number : 32 Question Id : 973597866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 973597867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about Word Processor is FALSE?

Options:
, w Itallows changes without retyping the whole document

- % It allows insertion and deletion of texts anywhere in the document

- It always uses a fixed template which cannot be changed

4 w It saves the documents permanently on computer Hard Disk

Question Number : 33 Question Id : 973597867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 973597868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a feature of Word Processor?

Options:

, % Word Wrap

-~ » Font specifications

5 « What-If analysis

4 # Spell check

Question Number : 34 Question Id : 973597868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 35 Question Id : 973597869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5-Wiord, double-clicking on facilitates to apply the same formatting to multple places in the docwment.

Options:

; w Shading
> % Watermark
- % Font Color
4

« Format Painter

Question Number : 35 Question Id : 973597869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 973597870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following margins adds an additional margin to & page layout to ensure that texts are not obscured by the
binding?™
Options:
1 & Left
= o Gutter

4 % Top

Question Number : 36 Question Id : 973597870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 37 Question Id : 973597871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Word features facilitates to create personalized letters or labels for mass mailings?

Options:
1 % Thesaurus

o  Mail Merge
- » Envelopes

4 % Labels

Question Number : 37 Question Id : 973597871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 38 Question Id : 973597872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Which of the following statements is FALSE?

Options:

1 « A document cannot have both Header and Footer.

~ % The Header/Footer of the first page can be different from that of other pages.

5 » Odd and Even pages may have different Headers.

4 % Odd and Even pages may have different Footers.

Question Number : 38 Question Id : 973597872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 39 Question Id : 973597873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of following is generally used to organize. analyze and store data in tabular format?
Options:

, % DBMS

5 o Spreadsheet
%z % Word Processor

4 % Visualization Tool

Question Number : 39 Question Id : 973597873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % DBMS
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Question Number : 40 Question Id : 973597874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a correct way for absolute cell addressing in MS-Excel?

Options:
1 SAS9

o % ASOS$
=z ® #A#O
g ARO#

Question Number : 40 Question Id : 973597874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 973597875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assuming numenc valies mn the cells A6 to A10 as 29, 19, 27, 49 and 39 respectvely, the value of the Excel expression
=MAX(ASAB. AL10) 15

Options:
1 39

2 ® 29
4 % 19

Question Number : 41 Question Id : 973597875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Tl H HEITcHF AT A6 T A10 I FHI: 29, 19, 27, 49 3T 39 I foar s af, e

o= =MAX(A6:A8, A10) T A gl

Options:

1. ¢ 39
> % 49




= % 29
4 % 19

Question Number : 42 Question Id : 973597876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the followimg is o data sinmenarization tool that automanically sort, count, total or average the data stored in a
spreadshect and displayvs the results in a different spreadsheet?

Options:

1 # Filter

> % What-IF analysis

3 « Pivot Table

4 = Data Validation

Question Number : 42 Question Id : 973597876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 43 Question Id : 973597877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The display value of the cell containing the Excel expression =40/8-8/2 is:

Options:

1.+ 1

e B

= % 10

4 % #Div/0!

Question Number : 43 Question Id : 973597877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U+ O 58d vaad sua+ =40/8-8/2 &, T AT FIT T2

Options:
1. ¢ 1

z % 10




Question Number : 44 Question Id : 973597878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assuming the contents of the cells Al and Bl as 16 and 3 respectively. the display value of the cell containing the

fonmula =A1/27B1 is:
Options:

1 % 512

5 o 2

= ® 04

g w 16

Question Number : 44 Question Id : 973597878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e A1 3T B1 = & wAe 16 3T 3 A #, g5 =A12°B1 aeht B w weiie A grami
Options:

1. % 512

2 o2

z # 64

4 % 16

Question Number : 45 Question Id : 973597879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following can be nsed to show amrows that indicate what cells are affected by the value of the currently
selected cell?

Options:
1 # Show Formula

- % Error Checking
- # Trace Precedents
4  Lrace Dependents

Question Number : 45 Question Id : 973597879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 46 Question Id : 973597880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The display value of the cell containing the Excel function =FLOOR (31.9. 7) is:

Options:
1 ® )

2.;;,-"‘28
3
3

i
fa—

=
4

®
| ]

Question Number : 46 Question Id : 973597880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHAT FEFAA =FLOOR (31.9.7) Mol Hel & Yeiod A grem|

Options:
1% 7
> o 28
3 % 31
4 % 32

Question Number : 47 Question Id : 973597881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a standard protocol vsed to exchangs files between two or more computers on the Intemnet?

Options:

1 ® SMTP
> % POP
= o FIP
4 % IMAP

Question Number : 47 Question Id : 973597881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % SMTP
> % POP
s v FTP
2 % IMAP

Question Number : 48 Question Id : 973597882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Receiving data from a remote machine to a local machine is called:



Options:
| = Browsing

> % Searching

5 » Uploading

4  Downloading

Question Number : 48 Question Id : 973597882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® m
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5 % TSNS

4  ST3ATET

Question Number : 49 Question Id : 973597883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a top-level domain in the Domain Name System of the Internet. which is used by mobile
devices for accessing Intemet resomces?
Options:
1 % .mob

5> o .mobi
5 % OIZ

4 % .Aero

Question Number : 49 Question Id : 973597883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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fEarEw = g2taE HEnE o qgir—‘r + oo foar s &7

Options:

1. % .mob

2 % -Org
4 % .@ero

Question Number : 50 Question Id : 973597884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Microblogging site?

Options:



1 « Twitter
> # Facebook

5 % MySpace

4 % LinkedIn

Question Number : 50 Question Id : 973597884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 51 Question Id : 973597885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the intentional slowing of data transmission speed by an Internet service provider?

Options:
1 % Error correction

> % Virtual hosting
= % Collision detection

4  Bandwidth throttling

Question Number : 51 Question Id : 973597885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 52 Question Id : 973597886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a Class-C IP address?

Options:
, ® 155.155.100.10



- « 223.150.15.10
=z % 110.250.100.50
4% 191255305

Question Number : 52 Question Id : 973597886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

ffafaT # @ 39 T UF Farg-ur yeYr Tey 27

Options:

1. % 155.155.100.10
> « 223.150.15.10
2. % 110.250.100.50
4 % 191.255.50.5
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Read the following passage and answer the questions given after
it.

One day I saw a small snake in the compound, crawling along
slowly. Seeing me it moved away quickly and hid itself in a coconut

shell. T quietly went and closed the mouth of the coconut shell with a
stone. Then I took the shell and ran to Grandmother.

“Look, Grandma.” I cried. “I have caught a snake.”

“Snake?” asked grandmother in alarm. She was shocked. She cried
for help. Grandfather came running. snatched the shell and threw it
away.

The snake crawled away and disappeared behind some bushes.
Grandfather warned me never to go near a snake. because snakes
were very dangerous.

Later in the evening I tried to catch a bee. which stung me on my
finger. I felt a sharp pain. I ran to grandmother and told her that I had
been bitten and wanted her to do something to stop the pain.
Grandmother thought that I had been bitten by a snake. She called
out to Grandfather. “Come and see what has happened to Raja.”

Grandfather looked at my finger and there was a blue mark. He
immediately took me in his arms. and ran across the garden and
through the paddy fields reached a small house quite far away from
our home. He shouted for the man who lived there.

An old grey haired man came out. He knew the cure for snakebite.
The old man took me inside. He looked at my finger and then asked
me to sit still. He then took some water in a brass vessel and started
reciting some manti-as.

I wanted to say that it was a bee. not a snake that had bitten me. but
they didn’t allow me to speak. By this time the pain had stopped.
“Thank God. you brought Raja in time. He is out of danger now. It
was indeed a poisonous snake.” said the man. “Grandfather thanked
him for the magic cure.”

Sub questions

Question Number : 53 Question Id : 973597888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘What kind of a child is Raja?

Options:
1 # Coward

- u Aggressive



5 o Daring

4 % Timid

Question Number : 54 Question Id : 973597889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When Raja brought home a snake in the coconut shell the grandma was
Options:

1 « shocked.

> % indifferent.

o % angry.

4 ® nervous.

Question Number : 55 Question Id : 973597890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where did the snake go?

Options:
1 % Back into the coconut shell

> « Behind the bushes
=z % Into the house
4 % Into a bucket

Question Number : 56 Question Id : 973597891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What caused a sharp pain to Raja?

Options:
1 % Snakebite

> % Ant bite

5  Beesting

4 % Leginjury

Question Number : 57 Question Id : 973597892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What was the profession of the old man?

Options:
1 % A doctor

- A magician/witch doctor

= % A snake charmer

4 #% Apriest



Question Id : 973597887 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 973597888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T &g 9T &1 F==T 91?
Options:
[ k3 w

> % HTFTHT
-  HIEHEr
4 % STAIF

Question Number : 54 Question Id : 973597889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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4 % TSI LT AT

Question Number : 55 Question Id : 973597890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 973597891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 57 Question Id : 973597892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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OUANTITATIVE AFTITULE
Section Id : 973597127
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597127
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 973597893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The average of 50 numbers is 23. If each number is increased by 1, then the average of these 50 numbers will be:

Options:
.

I
—

I-.2
[

> R

I
L]

z ®
4 v 24

Question Number : 58 Question Id : 973597893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

50 mEmst @ e 23 §1 3 v wew 7 1 & gy Hr I &, O 57 50 mEmst &7
Hraa g S|

Options:

1 % 21
> ® 22
3 ® 23



4 o 24

Question Number : 59 Question Id : 973597894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ram sold a toy for Rs. 96 at a profit percentage that is numerically equal to its cost price. The cost price is:

Options:
1 #% Rs.30

~ % Rs. 65
= % Rs. 85
4 « Rs. 60

Question Number : 59 Question Id : 973597894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

« % 30
. T 65

s % ©. 85
4 v . 60

1.

2.

Question Number : 60 Question Id : 973597895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pipe A can fill a tank in 50 minutes. pipe B can fill it in 70 minutes and pipe C can ampty 1t i 60 mimates. Inowhat time
will the tank get filled if all three pipes are opened together?

Options:

1« 56.75 minutes
> % 55.75 minutes
= % 56.00 minutes

4 % 55.50 minutes

Question Number : 60 Question Id : 973597895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v 56.75 &=
. % 55.75 fReTe



z # 56.00 A=<
4 » 55.50 fA=e

Question Number : 61 Question Id : 973597896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The body weights of Mohan and Meera are i the ratio of 7 : 8 and their total weights is 120 ke, After joining a gym.
Muohan reduces by 6 kg and the ratio hetween their weights becomes 5 © 6. So. Meera has reduced by

Options:

Question Number : 61 Question Id : 973597896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 62 Question Id : 973597897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Stugdy the following table carefully and answer the guestion given below it

The table represents the total number of students studying courses It Q. . 5 and T across cight institutes, which are A,
B.C.D.E.F, G and H.

Institte | A B C D E | F G H
J

Courses . . . |
r 520 410 | 550 450 | 370 | 210 730 | 430
0 A10 [ 540 | &10 80 | 330 | 330 | 570 | 310
R 430 ( 210 | 590 330 | 730 | 510 | 330 | 430
=5 330 280 | 7D 320 | 410 | 430 | 610 | 460
T 270 480 | 380 230 180 AT0 | 590 | 660

What 15 the total noumber of students who are studying course T across all instimtes?

Options:
1 ® 3480



> « 3280
2 % 3420
4 % 3840

Question Number : 62 Question Id : 973597897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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faregor A B G D E F G H
eI/ IS aH
P 520|410 | 550 | 450 | 570 | 210 | 750 | 450
Q 410 | 540 | 610 | 580 | 380 | 550 | 570 | 310
R 430|210 | 590 | 530|730 | 510 | 530 | 480
S 350| 280|570 | 320 |410| 480 | 610 | 460
i} 370| 480 | 380 | 250 | 180 | 370 | 590 | 660
Tl FEU & TSAHA T T dTer ST B ol FEA feheetr 87
Options:
1. % 3480
> « 3280
=z ® 3420
4 # 3840

Question Number : 63 Question Id : 973597898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the area of a triangle whose sides are in ratio 3 : 4 : 5 and perimeter is 48 cm.

Options:

?
1 # 108 cm~
¥
> o 96 cm”
.
= # 84 cm”

i g
4 ® 72cm”

Question Number : 63 Question Id : 973597898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ve Tege ormer et @1 s 30 4 0 5§ 3 9iT 48w &, A P & #Tee Aa S

Options:

. =% 108 A2
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Section Id : 973597128

Section Number : 4

Section type: Online
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Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597128
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 973597899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following word will come fourth after arranging them in the alphabetical order?

Options:

1 ® IMPROVE
> « INVOKE
- % INITIATE
4 ® INCREASE

Question Number : 64 Question Id : 973597899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TUNFA H T & ¢ Fraioiad § & FieT A oeg =AY FAF T HTM?

Options:

1 % IMPROVE
> « INVOKE
z. # INITIATE
4 % INCREASE

Question Number : 65 Question Id : 973597900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a certain code, ‘MARUTT is written as ‘RAMITU’. How is ‘NUMBER" written in that code?
Options:



1 ®# MUNBER
> ® UMNREB
z v MUNREB
4 ®* MUBNRE

Question Number : 65 Question Id : 973597900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fdr iz &, ‘MARUTI" & ‘RAMITU’ for@r =i g1 35 i # ‘NUMBER’ & $o for@r smeen?

Options:

1 % MUNBER
> % UMNREB
=+ MUNREB
4 % MUBNRE

Question Number : 66 Question Id : 973597901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A walks 10 metres in front and 10 metres to the right. Then every time tuming to his left. he walks 5. 15 and 15 metres
respectively. How far is he now from his starting point?

Options:

1 & 5 metres

~ % 10 metres

= % 15 metres

4 % 20 metres
Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 66 Question Id : 973597901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A \TEST # TEm # 10 FHET T9ar § a0 g A 10 Fex @ #1 O W 9w g ¥ g5e W, 9%
Faer 5, 15 3k 15 drex awar §1 9% 3 s Ty @ Bee g i

Options:

1_\-{?5?“3_{

> % 10 HET

= % 15 HET

4 % 20 HIET

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 67 Question Id : 973597902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Neelam, who 1s Deepak’s danghter, says to Deepika. “Your mother Rekha is the younger sister of my father who is the
third child of Ramal.” How is Ramal related to Deepika?

Options:



1 ® Uncle
> # Father
3 « Grandfather

4 # Father-in-law

Question Number : 67 Question Id : 973597902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arem =@ §e #r oo § it & s B g A T A e S e F ST A 2 A
OIS &g 1" THe &7 S & Far Hay &7

Options:
1. % =Tl

guﬁFIT
= « glal
, w T

=

Question Number : 68 Question Id : 973597903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If ‘FI' is related to ‘KN, ‘PS" will be related to:
Options:

1 % VY

o ¢ UX

2 ®# WZ

4 ® UY

Question Number : 68 Question Id : 973597903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g ‘FI Tafag g KN &, & 'PS’ Few gafoa grem?
Options:

1. % VY
> o UX
3. % WZ
4 % UY

Question Number : 69 Question Id : 973597904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Find the missing character in the following figure.

? 8
e
125 64

Options:
1 % 512

-~ % 305
= o 343
4 % 729

Question Number : 69 Question Id : 973597904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁmﬁfﬁamﬁ?ﬁ?ﬁrﬂmmwmi

? 8
A
125 64
Options:
1. % 512
= % 305
3 « 343
GEMERAL AWAREMNESS
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Section type: Online
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Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
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Sub-Section Number: 1
Sub-Section Id: 973597129
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 973597905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The headquarters of the International Court of Justice is at:

Options:
1 ® Geneva

>  The Hague
= % Rome
4 % Vienna

Question Number : 70 Question Id : 973597905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HAWTSET e HT Ao # e g

Options:
i # fSear
2_@*%ﬁw
3 % UA
4 % T

Question Number : 71 Question Id : 973597906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year was the Indian Space Research Organization (ISRO) founded?

Options:

1 ® 1967
> o 1969
= ® 1970
4 ® 1974

Question Number : 71 Question Id : 973597906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AR HARE HFHUTH FIee (ISRO) #r Tl foh| 9 g% ofr?
Options:

1 % 1967

> « 1969

=z % 1970




4 % 1974

Question Number : 72 Question Id : 973597907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

National Sports Day in India is celebrated on 29th August. in honor of which sports personality?
Options:

, « Dhyan Chand

> % Milkha Singh

5 » Daleep Singh

4 % C.K. Nayadu

Question Number : 72 Question Id : 973597907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ARE H 29 3ET FF T O Taw Fw oo ofEwag & A A #4917 A 22

Options:
1« Sl=lg
. » THoar &g

, x G & AT

Question Number : 73 Question Id : 973597908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Grammy Award is given in the field of;
Options:

; w» Acting
> o Music
- # Singing

4 % Boxing

Question Number : 73 Question Id : 973597908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I [TER g7 7 fgr sma &
Options:

| % A=A

3. % 9T

4_333%'5]71'



Question Number : 74 Question Id : 973597909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following films was adjudead ‘Best Film” in 23 Star Screen Awards aiven away in December 20167
Options:

1 # Rustom

> % Sultan

= % Fan

4 « Pink

Question Number : 74 Question Id : 973597909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gr=afas & & feg Oen = Busr 2016 & 238 so0 =09 ranw & ‘maaes e ofte B e

Options:
1. % PHIH

Hedled

> % 5

3,%3ﬁﬁ|'
4_&"%

Question Number : 75 Question Id : 973597910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who wrote the book “Rama Charita Manas™?
Options:

1+« Tulsi Das

> % Bhakta Kabir
- # DBhakta Ramdev
4 % Valmiki

Question Number : 75 Question Id : 973597910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘TH FRE A hae forar ar?
Options:

1. ¢ ‘_:ﬁ-‘:ﬁ ahR
> % ¥Fd FAT
5 % HFd THST
4 % (AR
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Number of Questions to be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
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Question Shuffling Allowed : No

Question Number : 76 Question Id : 973597911 Question Type: TYPING TEST Display Question Number : Yes

Scientists all over the world are trying to fight diseases, and they have certainly succeeded to a large extent.
Eut, a recent discovery shows that AIDS has created a terrible scare in the world. The reports suggest that after
taking a toll of several thousand lives in America and Europe, this disease has entered India in mild forms. It
might soon appear in a big way, spelling doormn and disaster. The Government of India has even launched a big
offensive against the terrible disease. Although, there is no reason for immediate alarm, yvet the public is being
educated about the symptoms, causes, remedies, precautions and other details related to this syndrome. The
entire media, including radio, television, newspapers, and periodicals are sounding a note of warning and
asking the people to take all precautions to save themselves from this killer disease. It is also recorumended to
include AIDS education programune in the high school curriculum,. This disease is basically an illness, in which
the natural systermn of the body starts failing by slow degrees. A hurman body is known to be equipped with
various weapons of its own, in order to be protected against invaders, like germs. One, who 15 suffering from
AIDS loses these weapons and becomes unable to fight with it. Further, this disease infects the white cells of
the body and is often very difficult to diagnose. Early symptorns of this disease are a significant loss of weight,
swollen glands, fever and night sweats, extreme lethargy and oral or esophageal infection. However, these
symptoms do not always mean the presence of AIDS. It generally attacks people who are used to changing
their sexual partners, for example, bisexuals, homosexuals and prostitutes. Other victims include the drug
addicts and people who receive frequent blood transfusions. Hence, doctors recormmend taking precautions
and studving about the disease in detail. It can be transferred through infection needles, blood, semen, saliva,
urine and stools. In developed forms, it proves fatal as there is no cure for it In order to avoid being attacked
by AIDS, one should have regular medical examination and should not be repeatedly exposed to sexually
transmitted diseases. One should also avoid sharing the needles, razors and tooth brushes with others. A
wiornan who carries AIDS should not conceive, as the disease gets passed on to the child. In simple words, this
syndrome 15 a potential health threat to mankind. The only way to deal with it is to face it calmly and boldly.
There is no need for scare or nervousness. The Government takes several initiatives to spread awareness
regarding this disease, both in urban and rural areas. India is lucky to have been saved from this terrible
disease so far.
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